trlbutlon

_cross sect1on A) filled with a gas (molecu]es withi 7
] _igure. 11.23. We select a Tayer of thickness Ay
number N of molecules in this layer is related toi :

_ PA - Ax
kT

hiat: ﬁfhei‘e-is- a pressure change AP = P, p, — Pi

PAx mg

Continued on page 383
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Exarmple

With - x - i"' 8882111 “(this™ 1s -the " height “of : Mo
'28gm01 I/(6 022 x 102 mol~ ) = 4.65 x 10~ kg (value for nil
g-=9.81m/s> we obtain for'T = 273K (as an average of - the
al x = 0 and x = 8882m), P = Py - e 198 = 0,34 p,i Thi
the atmospheric pressure: on- top ‘of- ‘Mount: Everest ‘is only on
atmospheric préssure on sed. Tevel. On the other hand, if we
order of laboratory dunensmns (x = I m) we obtam P
decrease by 1 X 10 =4 only




